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GENERAL STUDIES, PAPER — |

Time Allowed : 3 Hours] [Max. Marks : 200
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"SECTION -1
Critically examine the role of Kunwar Singh in the Revolt of 1857.
1857 %t it ® R o & IEH =1 SEAES THET Y |
_“The underlying object of the Birsa Movement was internal
pérlﬁcatlon and the desire to remove the alien government.”
Explain.
“Torm ST=Iem F1 STYRYH S o1 i YfeEo ww feREd
YEE w gEIfd Y geet | TR Hifv |
Describe the contribution of Bihar in the individual Satyagraha of
1940-41. :
1940-41 & =femma §amE | B & 9Em & 9o F9ifE |
Discuss the salient features of the Mauryan Art.
4 wen w1 wg@ faumas 1 fEEem it |
SECTION-1I
Discuss political change in Bihar Polity from 1991.
1991 ¥ faER # TN WA B W99 IREdT &1 == i |
Examine main recommendations of 13th Finance Commission of
the Government of India.
W%Bﬁmﬂuﬁaﬁg@qﬁmﬁsﬁaﬁmaﬁﬁqn
Explain worsenmg position of the State Finances of Government of
Bihar.
faen To0 9FR & foadiig gurel =t faned 8wl < s
Explain main Agreements of World Trade Organization. Discuss
Agreements on Agriculture in detail.
WWW(WTO)H%H@IW@IW t?fﬁiﬁamffaﬁ
faega ==l Fif | ;
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SECTION - Ilf
9. Study the following line graph which gives the percent profit earned
by two companies M and N during the period from 2001 to 2006
and answer the questions that follow : ‘
(a) The income of company N in 2002 was Rs. 40 lakhs, which
increased by 40% in the year 2003. Find the expenditure of
company N in the year 2003,
(b) If the expenditure of companies M and N in the year 2006
were equal and their total income in that year was Rs. 160
lakhs, find the expenditure of each company in that year,
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2001 2002 2003 2004 2005 2006 _
’mw-mmammq;WﬁmﬁMamNm
s wioem wnw srafy 2001 | 2006 7% 3 fow fian w1 2, 9 59
(F) 9 2002 ® &t N F1 319 40 73 79¢ of, 5t 99 2003 4§
40% 3¢ T | FFE N &1 39 2003 F =1 9@ #ifaw |
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(@) 3k FatEl Maa N # =9 a9 2006 § 90 91 991 790
FA G W 99 9 160 Ir@ TIC off, W TS A F =G
It 99 o F wifsw | _

Study the data given in the following multiple bar chart which shows

sales, profit and equity of a product during the period from 1997 to

2001 and answer the questions given below it :

(a) Calculate the average annual growth rate for sales.

(b) Obtain average annual rate of growth of the expenditure.

(c) What was the percent increase in the equity in the year which

experienced the maximum growth in the profit percentage ?
(d) In which year the. expenditure was the highest ?
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a%g @ fawt, @v aun feadt Y erafy 1997 | 2001 7% wviiar

g, 79 I qe @ IR AfNY S e A frg ome ¥

(%) fawt #t simw afds 3fy T 3@ Ffew

(@) =99 %! sim offw 3fg = g Ffee |

(M Tm od #, fred o whew § afreew 9z € ), shed o
wiowra gfg =m0 &t ?

(w) Tog o8 o =2 yad SOy a1 ?
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Stuty the following pie charts which show the sales for Dunlop in

the year 1999-2000 and answer the questions given below it :

(a) If the next year, the sales of sports goods were expected to
double, assuming that the total sales do not change, what would
be the percentage share of sports goods in the total sales ?

(b) If in the subsequent year, consumer products are to increase
their share by 7 percent, then assuming that the total sales
remain constant, the consumer sales would have to increase
by how many millions of pounds ?

Sules by Sales by uraduet
location of company {in Million Pounds)
[in Million Pounds)
100

35 Others

Total : 1580 Million Pounds

(c) If20% of the tyre sales were in EEC countries, what was the
value of sales of other products in the EEC countries in millions
of pounds ? |

IR T TEiaEl #1 oregem sy, e evae w5t faE ad 1999-

20005 & € 7, a1 39 YA B SR Afee ot 399 S kg e ¥ .

(%) 3% & 99 wWiEe & gmHl & faml @ T ER 9 v |
7 3% 91 o T w5 et § w1 ofedw T e, @) widg
Tl F fTewm w1@ fawt &1 v wiawe em 2
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(|) 9% o T a9 ®, uew 9 S TS 7% 98 SN e 96
& o wa fawl ¥ = ufeds T 2w, 9 9@ $ifae i Tes
fawt frer faferaq dive sgmn |

(M) afx 20 wfawrd 2R H1 fawt EEC 39 ¥ o, ot o1/ 9l
fa#t =1 779 EEC 39 # fen faferm divg on 2

12, (a) Study the following graph which shows demand and production
of a product of five companies A, B, C, D and E and answer
the questions given below it :

(i) What is the difference between average demand and average
production of the five companies taken together ?

(ii) The demand for company B is what percent of the demand for
company C ? P

(11i) Find the difference between average demand and average

_production of companies whose production is less than demand.
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(b) Inavillage of UP, the main mode of transport is the cycle. The
following chart shows the population trends and cycle usage
trends during the period 2001-2006. Study the chart and answer
the questions that follow : |
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2001 | 2002 | 2003 | 2004 | 2005 ' 2006 '
—@—Male Population =—fi=No. of Cycles —h—Female Population

(i) In 20085, if the females used 40% of total cycles, then what is
the per capita usage of cycles by females in 2005 ?

(ii) "What is the average percentage increase in number of cycles
over the period 2001-2006 ?

(iii) Find the year in which the ratio of males to that of females was
the lowest.

(%) I e F HegFd Hifwy, fagd giw w=ta A, B,C, D
91 E 3R el g &7 A U IEA Fi i w2, 9o 9
T # IR At W e A frg o €

() Wit ofe wfE F slwa Hi qu siea SR ¥ w= AR E ?

(u)mﬁBafrmHMCaﬁﬂmmmuﬁm%? .

(iil) =7 FwfEl | e w0 T HE IR SRR T B
T | ST € g E

(@) TR WY F TF WA T AT F eI e i § R K

T drEtfe ¥ SHEEA 9f ao WEfRE WA w1 W gfE H#l
e 2001 ¥ 2006 T H foQ <9ian T € | e F FeEE
e a1 59% 9 fou v v % s dfm ‘

() 2005 ¥ =g w& GrEfwal 1 40 wfaed v wfeass A fwa, o

yfa afean et wefeat & w@m 2005 9 gan ?

(i) emfy 20012006 # fau wEfeal 1 gen ¥ i ufam gfs
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